BMEROTAa7E IR

28

3 A~

28

30



[ o

26 H~6

25

(4

28

28

58

P3

P4

PS5
pP7
P8
P8
P10

P10
P12
P12

P13
P14
P16
P17
P18
P32

P33



& rE £
L 7 & A
H
= T & A
= =
ho=E
BOAE =
=
:F
X ALt
I\
S| &
AF B H T 2040
Al@G2 Al10
=
A H R
:F
T x H A

!

il



—

x4

3 ( 22 100)  96.1( 3.8 At 4.1 ) 9 92(
5.3 Bit+8.0 ) 12 92( A0.7 Biba175 ) I % h
27 58
] i N
48 A | ) 1.01 ( 0.03 ) A (
) 1.61 ( 0.08 ) ( ) 3.3 ( A0.1 ) A
( ) Ind
] ; )
4 ( 22 =100 104.2( 0.1 Btba0.7 ) 1
A ALt 33 3A
B ( ) 102.6( 0.3 Atk 0.3
1 i =Y
4 ( 2 ) 323 ( BAtta1.1 ) 6 H A 4
( / ) 806 ( BLb+1.2%) 1x
B H AKX
B = =) 27 10 18
11 8 7 H
] ] P |
48 IF 4,915 F( Atk 8.0 ) Atk 18.8
27 2R IF B
] 5\ :
5 28 ( Alba11 ) 23.7 ( Al163 ) 5 26
30 26 30
A ( : 28 4 6 ) BS\I( ) A
10.4% X K N\ N
2 n P |
‘ R o
A ( : 28 4 6 ) 28 k1.5
=) 8 0.4 =)
] ] )
4 ( ) 154.3( A3.4 ) 3 A 17 78.5(
A0.6 ) 3 = = 28 4




B EE( ) 7K G

Attt 4.1 2 R AKX
1 27 5H - -

[ 23 14
9
( 22 109 Al Rt ( Al )
( ) () ()
118 15.0 400
— Rft( ) L Bl —— —— —a—8 —

110 10.0 A /
2 00

100

MRS Sova- A
L/

-5.0 O
-2.00 \ A

P AVAVEAVY,

-3 00
850 : : : 150 400
&@@&f'&f«'&@«&&« ﬁ’@« u@« 6’@«&&«@@«’&%@«@@&&@ x@&f&&%@@%&& @Q@ &% Q@ 6‘@1&”@1&@1&&1&&1‘5‘&1@%1&@4&& G@ x@r&{&%&@%‘&&é&@
FEEFIIIIIIIIILLEEEE SRR AR N SR G G SRR G QR I U A G VR
I I
] (22 (1) 23
]
18.1% 125% B 103% 7.3% 6.2%
5.5% 5.1% 35.0%
=2010
( 21 10 )
= ( 22 109

115.0

110.0

o | W AL VY




=3 ( ) 99.2( 5.3 2
Bt 8.0 10 H B K
[ | 23 11
T B T 12
Att ALt
) ( 22 100) O ) ( At/
15.0 15.0 400
I—1 Bi( ) mmm BRI ) — — —a—B —
—— () —a— () 300
1D.0 10.0 /
200
16.0
100
10.0 0.0 e/ /\-
NN
-100
95.0
200
90.0
-300
85.0 — . -150 400
RIS S G- G g SEPLE LD ERL PP PP
FEET T TS FEEEEE A A B A S F K
FREP TP R FLTEIIIIIIIIIFFG
T T
[ ]
247% 131% B 8.6% 6.2% 5.3%
4.5% 4.5% 33.1%
=2010
=3 ( ) 12 92( A0.7 ) 4
ALt Al 75 9 H K
[ | 20 12
T £ 8
ALt
( 22 10 At Rt/
) () ()
1,000
180 90.0 900
— A ) ] RBe( ) 800
170 75.0 ggg
— () —_— () 500
160 /\ 60.0 400
W o \A\A
200
150 45.0 1@
80 \
140 30.0 60
130 |l 15.0 40
129.2 20 +—a——"
120 I}EF - 0.0 0 e ‘-\‘n yd .
./_‘_/—-—'—A\-/.\i I:I- -20 v
110 - = ||| -150
-40
115.4 \//\—'_\
100 -30.0 -60
-80 — —— ——
900 -45.0 -100

IR0 SN G A P g R
GHICHICARI A A Sl ol
RGN R

D A0
I F
&L

I

S PSP B S
L EE I

A

«&%@/\&b@/\&\@«&%@/\@@ RN &‘%&»‘%‘Q&»@%ﬁ
PP JIIF GG &

I




133% 122% 110% 102% & 9.4%
8.3% 6.2% 29.4%
=2010
/&
(2a0 ) 1@®
A
£ I & & =3

m4 A ( ) 1.01 (
0.03 ) 19 9 1
A ) 1.61 ( 0.08 )
- ( ) 3.3 ( 40.1 Htba0.3 )
n A ( ) tt
A A A X

1.40

1.30

1.20

1.10

1.00
0.90 i |
0.80 LU Sl -
0.70
0.60
$$ ﬁ@@fﬁfﬁﬁ@fﬁfﬁ&@

&
© ’L SRR A AR A A i\
R 'v R R R R R R RN & &

&

&

Q' % ‘b
RUBRUARVARY

4.0
—— -
3.8
3.6
3.4
.3
3.2
\/kJ/ .
3.0
2.8
LRLLLRLLRL LR & 2 L 2
&\N&Q’«@«’&m«@«&h«‘&%«w /\'\%«q&@r&\r& A
VR UGN G SN S FFFFEEL
KGNS KUIRURY
ES sl

160

I 60

L 40

- 20

2.20

1.40

1.20

1.00

&wﬁﬁﬁﬁﬁﬁffﬁ$¢ﬁfyﬁ$
ﬁéﬁﬁﬁﬁ
R

ﬁﬁ&&&

R

,\

A A
&&&&&¢

60

50

40

30

20

G_‘m

PN




m4 ( 22 1 @) 102
0.1 Blta0.7 ) 18 HIt 33
3 B
( ) 10 26( 0.3 Bl 0.3 )
n Bt AN A
7K HIt AN 7K
22 10 22 10 ' ( )
e o — Al ) mmm A ) oo Al T AE ]
109 - o 35 0w —— ( ) —a— () 25
108 3.0
100 | HHHHE Y7 25 103 M 2.0
100 [ HHHHEHBHEE 20 10 15
109 15 *f—k\l fi?#
100 W‘ 10 100 i v 10
103 05 100 YO W ] B 0.5
bl
y a [r f 990 0.0
10D |= -+ -05
100 e 4o 980 b o o o o L -05
R S S A S8 S® &A’?«:&%@? %%3@@&&&%%%%ﬁfﬁ%?&%j«@z%%%@ff
FEEEEEEGGI TIPS IEI I EEEE FEFFEELILEREE VIFPEELL I P P HFEE

ES ES

/ \
/?'i' A

1@

=4 ( 2 ) 33 ( BAtbal1.1 )
6 A 4 ( /
) 8 ® ( At 0.8%) ix
B H HK
m B B = AL
27 10 18 11 B 7
Attt
|
=}
m4 ( m5 B ( RE
) 323D Altal.1 FH B8 =) 148 10
6 H A A2.4 ( FAE 7.6
A B #Ea219 )




B® ALt

38 20.0 45
— Akt [ ] ALt —
40
30 15.0
35
30 10.0
30
33
3D 5.0 25
H 20
30 S 0.0
Bl iy
El 15
29 . PN R 0 10
20 ol -100 5
0 -25.0
24 150 DR LR PR LLADLAD R R L AR DR LA AP AP DD L
B SRR PN P AN SRRSO PSP PP
@Q&@é{@@&«?’&f\@&%@&q@@@f‘ f’&@’éf@Q’&@&&&«?’&\@&%@&q@@@ 2 ;@(@;&&&ﬁ@&@ L0 E @Q’&bﬁwb%p&@ S @@@i&‘@‘b P
RGN
FIIIIIFILFFLIII I IIIIPI L
B B & B =
ESN=l- £F B =

52 1T A A
53 =
& o =
= B =
L J
m4 ( ) 8 ® ( Bt 0.8%)
1~ B
)= | HK ( ) HlLb+0.3
2 A HK
] ( 16 ) 13 x
Bibal0l1% 2
B K ( 29 ) 6 B
B B
4.0% 13
At
( / ) O //i \\\
R BH( ) mmm BH( ) — oo L@ Totmy
12@ N | 3,000
1,50
1,10 1,500
A A

800

700

600

-150

O 7S A& A S S BN
QFFLF L ELE I L

A8

V' i\
WL

@
VAV AR R

RURUS

&

&’@&"@a"@&@@@%‘?’t@@w"z&@f&%ﬂ? ?&‘ﬁ&?@ St &f&%@@%@@@
RS Rs QU




m 4 H IrF 4,9 5 F( Btt+8.0 ) 2
ALt 188 ( 437% —F 9.3%)
m T 27 2R TR hi=]
T IF Ate At Im Ak
ﬁ
7.0 200 400
— Al ) BE( ) c— IF . R S

s H- ﬂ [I ﬂ - /\ /\ /;/\ /o

~e

0.0 0.0

5.0 D— (g / \ NN“// X/\W
4.9 |
45 m N1 50 00
A\‘/‘

.0 L 100 500

35 150 300

3.0 200 400

2.5 2 50

-5 00

PRI RLLEIRLLLLLRLL L LR
O S P A V- AN ORI @@ Q@ & ’&@ é&@ &n? !&,@ &,@ &b@« é@«&,& '&q@ @@ 5’(\ f’ &\@ @@ !&%@Q&@

AN NN NN NN AN D D D g & A AT AT AT AT A A & D D
FEEFIIJIEIJIIIJIGFFHEIEIY FEFEIIIIIJPFIIILHL IR

T I T I

r )

m5 28 ( Bibal1 5 26 30
11 4
3 18
9
n 2 37 ( Bital63 ) 26 30
1 85 ( Btta17 )

10




60

50

40

30

20

10

0

& A" A N X AP
FEIIJPJIIIF I

| &

M 1,00
8,0®

9@
70 @

1 8@
6,0®@

\/ f/ 40 @ 60

(1 N e

Il

T
w
=
o

L200@ 40

HH L 100 30
L L i i L o 2@

PLLRLRLLLRLLL
V6 G0 P g4 @«r&% S

g
> SSSSS0S

| & &

400@

L3500

L300@

L2500

L200@

L1500
F100@

- 50 @

ARRARNARNRRRRNARNID

PIFASBIRED DSBS PS RS

X3 1 1\ 1 \ S L P
FEGE S G E

T A S
At / At nie / Al
30.0
20.0
10.0
0.0
-10.0
-20.0
-30.0
-50.0 -100 — — - - : :
FHIIJIIIIFIGN I FEIIIIIIIIFI G
T A ES e

11



28 4 6AH ( )
BSI( ) Al Q4
X
N 3E AN
17 X 28 7~9 28 10~
12 B =]
BSI ( )
e
28 1-3 28 7-9 28 10-12
) )
A7.6 Al1Q4(a 5.8) A 4.6( 1.2) 7.4
9.4 A2.9( 6.3) 11.4( 14.1) 8.6
A5.7 Al11.1(a129) A11.1(a4.3) 13.6
A13.8 A13.1(a 7.2) A 8.0(a1.0) 4.0
All1l.5 A9.5(A 6.6) 1.7( 0.8) 16.4
A5.3 A11.0(a 5.3) A 8.1( 1.4) 2.4
28 1 3R
335
( )
e IgE
X £
£
]\ o rd
28 4 68 ( ) 28
tb 1.5 R
118% ) A391
=] /N A2 90% =]
A0.9 = JE 4.3 =]
28 A0.5 )
28 0.4 =)
e
28
1.5 A3.5 A0.5 10Q1) 0.4( 4.8)
11.8 A 3.4 1.4 12.4) 5.7( 6.2)
A439.1 5.4 Al11.7 ( 170) A29.0( 12.3)
A29.0 4a34.1 A46.3 4A54.5) A37.6(A483)
A0.9 16.7 A10.4 ( 130) A5.7( 146)
4.3 A118 7.3 ( 9.2) 6.1( 1.3)
28 1 3
326

12




)
28 07

17 "

28 (2 ) N

AN
1 M 203 10
208 H 2016
2086 )
27
28
) & 28 (206 )
FA
v )

1T _

13




(4

15

28

13

25

38

11

14



(1)

(2)

(3)

(4)

(5)

(4 )

9 36 1.8% 3 9 Q7 3.2% 3
104.4 0.0 22
6,611 HEt 40.3%
2,458 A3.1% 2
4,153 1.4%
4,111 Htt 3.6% 38
1,504 A2.3 3
2,018 1 Q0 13
1,228 1.4 2
R=E ( HE )
BE ( A& ) 95,901 Bt 0.7% 25
FAE 37419 8.7% /I FAE 31,599 3.5%
M= 2 6883 Al 14%
( )
1 323,439 R Eb( )A0.5% 6
T DI (
DI 43.3 1.1 2
1T DI 45.5 A0.7 2
A ) 1.40 0.05
A ( ) 2.19 0.08 2
35979 A BHtba2.2% 6
( ) 3.3% B 4a0.3 2
( ) kbt 106 +17.4
( ) e 122 23.7
( ) 183 11.9
3 2| T m ( ) Blta23.0 (2 )
T & 6,809 Bt 277% 4
I
IR 3 8227 F Btk 7.2% 3
2 3,775 Htta8.9% 7
2 6,731 Htt a2 Qs
10 26 Hit a0.5 10 B
99.3 A0.3% BAltas4.2% 11 AH

6.8
9.2
243

15




)
28 4 27
17
=) =)
(2 )
28 1~3 27
27 th 6.2 a
A7.5 g8
A2.3 g8
A
ITrF
2 & T A
28 1~3 27
Vi &
tt 8.5 = 3
27 A6.7 =] 0.0
R X
8 I a8
28 1~3
7
28 4~6
28 7~9 g

16




(4

28

27

28

27

27

17




5 26~6 25
| |
5 26 1~3 A =
& 206 1~38 & 4,1 BB
25 3
H & & (REIT) &
B BA
5 26 B -2 6,500
b = 17 1E
B A 53 =) 53 =) ,5 @ X
25 H = = 2| B A
5 27
(G7) ( 27
G
& S
G 3
6 2 10 1.7
&£ 1 H = 3 163 5,33
2 a5 =] 1® 9,749 14 16 2,30 1%
3 65
6 2 19 10 10%
1H B =) 1 % 208 10 2
78 E
6 2 E 4 13 306
1 2013 B 1A B 12 i
2.8% 306 5,0® 4 = 1T En
45
6 3
2 1
6 M
10% 32 2 (
PB) £ =}
6 3 = R
2
IE 2| & = 2| 53
E =} 203 £ 1.8
17 50 25 20
50 18 = - &
6 3 15
2045 8 16
_I%_ —
N BCd (ROE) V2
6 3 K100 37%
=] 10 209 10 2

18




377%

1@

6 7
1 1®
1~3 8 &£

4 @

0.1

2 H 1o A
-7
2 a4
£
3
203~15 3
2@9 10
52
81
81
A A
A 73
=
4 B
16
20 H
3m
=
&
¥ 11
=
2 5,0
0.01
E &
0.01
& Ko7

il

PR

it

£ 10~20

18

A0
14 15
2
==
81
B =
A
201
1 1D
-3
8
==
X

il

it

8 17

18

it

19




6 10
=]
23
=]
6 15
14
4
6 15
14 H
6 16
15 H
6 17
16
1
4
6 19
20 16 ==
7K BH H
14
H
6 19
18
-7 10
7
6 19
2082
6 22
21
B )
AN
6 22
=5

A
=]
3 =
X
15 1,652 34 H
1,62 9,1@ 4.3
2
5
H 17 PR
1L 4 6
1,000
= 206 = A 1T
1,000 A
1T
99
1 1@
16 15 =
1
=] B 5
5 M B =
=l
B
H = AO 1
T 18
19 0
18 19
£=g 20
B T 100
1T( ) 100
N B
loT
GDP( )
(WTO) (TP B
E X
21 H X
( B

WTO TPP

==

500

2016

3.8

1,0 ®@

201 3
16

11 5

198

7K

72

22

OECD(

6

70

20




6 25 EU H B 1
(EU) 240 £ =
=| &
iCy E H £ (GbpP) E 0.1~1
6 25 EU R
(EU) =|
2008 = EU
=) &
6 25 i 74
Z 5
24 74 24 H & 71
3a 3
| |
5 26
3 =] X B X = B 5
( )
25 16757 35 ( 23 59
5 27
4 27
iCy 52 — 2® 1 7,00
= sl B 1
& 2 6 26 167 2 46 ( 15 11 )
5 28 1 & FR
27 1 £ 1 6,58
1H & B 2 7 24 9 2 17
68 H & H TR
27 168 3% 84 ( 62 38 )
5 28 4,5 00
27 2015 A 4,5 Q
& 7N = X &
N & = & H &
1) =] ]
5 28 NISA1,00 A H 20
&= 27 H IE (NISA) 204 3] ( ) O
2 9 g 1 B 14 ju e 20 1
47 1 B A
B 3 H
5 30 ik T8 4
=] B 17 E B ) 17
& VA 2 a6
=l T R T8 4 8
5 31 1 7,000
30
238 18 7,08 02
4 170 @ H & =

21




5 31 10 4 4 NISA
4 B El ( NISA) F
10 4
A NISA Lt F £
6 1 5
31 5 5
17 H~24 H sl I % i
1 & 2 9,0 2 5
2 31 1723 98 ( 16 96 )
6 1 5 5 68
5 58 (3.4 )
= =) A
52 £ B 2
6 2 6 =]
6 =] Bt 2P 25 (1.62 ) 5
67 ) 1 16,9% 73
6 2 REIT 2 1.5
=] (REIT)
1 4,8® 1 2
10y REIT 01 =)
£ REIT
6 3 3 B
2 B =] 338 18 1 6,5&® 55
= iT
9
6 4 3
3 B B X & 10y
& 2 3 16642 23 ( 79 68 )
6 7 1 6,580 =1 N
6 3
20 1 6,589 03 NS 5 H 2] K
= h B
6 7 1 06 106
6
— B 1 106
17 107 18 1 57
6 8
7 1 10
3
=] 10y 7 1 6675 45
42 )
6 9 1
8 1% 47 (0.9 ) 1 6,839 92 1
K B X & = iT 5 H
1]

20% 11

18

(5B

2 a5

62

95

22




6 10 =] - 2 00
3 H = 17
2 M
1 16
14~15 (FOMC) =) HXE
= iCy 9 166 @ 41 ( Al® 51 )
6 11 H
H K 1y Iy
10 1 6,5®
(FOMC) H £ =]
PBR( )
10 16601 36 ( AB67 05 )
6 13 E &= 0.165
13 H E % 10 =
0.0 ( ) 0.16
0.1 % =
6 14 EU m10 582
13 H =5 2
58 18 1 6,019 18 4 12 2
E % 10 H 5 3 1 1
1® 97
6 14 UFJ
UFJ 4T 13 H A
& A A 6
R VAN 17 =] &
6 1 6,000 EU
14 (EU) 4
H 160 18 1 583 1 6,0
1 1®
E £ 3 = E %
6 16 E &£ H EU
S S E £ 15 10
0.1% 4 B £ & 14
(EV) Jife &
& e
6 16 5
15 5 H BX < 16 H sl
4 H 1,0 @
15 15,919 58 ( 60 58 )
6 17 1 10 103 H B
16 H =S T £ 1) B 1
1® 1 1@ 26 8 1 10
7K = H Bt 485 44 1 5,43
14 4 B
6 18
(EV)
1 10

23




1 & 2 4,7 4
17 15,599 66 ( 165 52 )
6 18 3 1
17 1~3 B & ( ) 16 3
k3 27% 3 & 3 39% 2032 48 =]
X
53 RA
6 21 EU
20 (EU) H VAN
4% 4 1 6,0 i1
EU
36 64 1 59& 30 EU 1S =3
23 H
6 21 A X
20 2 Qs A 3@ 198
17 H 3 ElS (NISA)
15 A 4,9 4
A H ke 0.2 175% 4 5,08
5,0 @
6 22 1 6,000
21 3 1 1 6,0
23 (EV) E % 1=Wa)
2@ 81 1 6,169
11
6 2 H H
=| =| 23 (EU)
E = 52 H 3 7®
22 16,065 72 ( A103 39 )
6 24
(EU) E
FR 23 16238 35 ( 17
63 )
6 25 EU X
B (EU) 24 H & X =|
16 X ] H
1,2% 33 1 492 02 1 A IT( )
200 48 8 1
193 7
| |
5 26
25 2015 A
7.1 4
5 27 4 8 k0.3
27 4 (20 © 100)
102 B & 0.3 A

24




5 29 7
206 15 It 8.3
7 105 15
15 1T
5 31 5 5
30 5 11 5
2
B = & ¥
5 31
31 4 ( ) 2 A £ 29 85D
A 0.4%
2 B A
5 31 4 0.3%
31 4 (200 100 ) 970
0.3%
4 1 4
6 1 1~3 4.2% 9.3%
1 2016 1~3 8 A &
b 4.2% 13 6,86 13 4~6 12
(15 1 0v12 ) 8.5%
6 1 48 A 1.34
& 31 4 A A ( ) 0.04 1.34
199 11 24 A = K H 4
( ) 3.2%
1 4 A I9%
+ 31 4 A IF Bt 9.0%
8 23®8BF A 17
3 58 0.1
2 58 iy R (2
) 0.1 409
3
2
B =2
( ) P 1H BA
3 4 A £0.6
3 4 ( ) &
& Bt 0.6
0.2 24 325/ 0.3
9
3 (4 1 )
99 9 89 1 1

25



4 5
3 H
5
~3 (£
k6 36
A
7 R |
(R 1)
=
2
8
7
208 1
08 (93 323 )
8 4
7 4
112
= 7K B
11
2 B
8 1~3
8 2016
0.5
0.4 1.7 )
B
8 16
T 78
tk 2.4
=] E 16
= 1T
0.5
9 5
8 5
4 30
9 4 B
8 4
1 8,78
10 4
9 4
B Bl 110

43
X &£ X &
1
366 =]
=
)
B
68 H =]
10
A
3.74
( )
3.74 92 7,4 15 4
3
( 22 =109)p
27
B 4
GDP
1~3 (GDP
1 1.9
sl
B
B E 0.5
=] 2016
1 0.5
0.8 0.5
4
B 41 T
(
=] ALt 417
% 2
= &,
11
( )
7,98 J=

2.2

1.9

&

73

g

(GDP)

4 30

95

£

£

2.0

0.5




6 14 =] R
1383 H
10
B
6 14 ~ A
13 4~6
7.9 2
BA T R
6 14 3.8
13 4~6
20 16 15 ikt 3.8 =)
£ £
6 15 H i B 5
10y 58
(2 ) 409
6 17 6 AR b1
17 68 B
=
(EU) ElS +
B
6 17 & 7 15
17 B il ( ) 20 15
0.6% 1,7 ® K 7
4B &
9.9% 13
92 4
6 20 H 5 6 71
5
Bt 7.3% 671 A H X
5 190 7@
1T
6 20 100 78
1®
78 11 20
=
5 30 ~6 10
6 20 E10
19 H
7 88%
1T
6 20
73 A

=2
( )
6
AR
=]
e 10
0
4 (4 09)
A bl
AR
1,706
£ =5 1 It
_'%_
B A
7 3.7%
( 1,0 @
KF
e
2
8
£ 100

27




4 58 A A VA A
1T
6 20 A DI
20 5 H ( ) A 52
4 o7 ( A 21% ) A
113 —75 H A N
= i
6 21 117 8
11 )
89 8
(EU) 75
25
6 21 5 5.1
20 5 H = Bl 5.1
A 7K =
6 21 5 B = A
20 5
= HLtt 1 66 13 A j =
| |
5 26 & )
X &£ | =
h B |
5 26 N 6
25
3 M 86
S Z
37 H
5 26 A 43
N v & 2048 =) 14 5 43
H & £& ba) =8
bs] B B
5 27 iT
206 i} 1T 15
1T — 16 B 1T 1
P& 6 A 1T A
5 27 &
= & 5
B % A &£

28




27
27
X B 10
1 6
+ B 5 H
B = H AN ( E251 )
( ) 8
17 X 75 H VAN
2 208 B
1 4 B A 1 8 A
31 4 H A ( ) 0.03 1.01
200 9 H 1 A =
2 JCOM 3
1H B =
(JCOM) 2 a6 18 3K
6 4 Eih
| 3 H E
6 4
OR
PR
)
6 7 5 3 30
6 5 ( 1 ) A
5 (143 ) 30 3 34 4@
(6 98 ) 7,200 1® H — A 7K
5 19 6 I\ Ehva
6 8 3.9
1T 52
1A tt 3.9 44 7.8 45
14
6 8 loT
loT( )
206 &
loT
6 8 R i\ H
200 1,500 X A
— =] X 2] i\
1 =} B
6 8 E iT -3 P9 A
N % (REVIC)
52 ] A P9 T A A

29



15

8
3 )
50 10
6 9
£ B =
2,52
B =
6 10
A
6 10
BN Z
72
6 10
90
6 14
(
A
6 14
13
(BSI)
1T
6 14
H £
46 14
) 17
6 14
Ny
PR
6 15
14
7

5
5
(Dl) 4 34
5B =<
5 H
B
£ 4
B
A H &
1.5
7,500 )
F
4~6
4~6
104 2
BAmE A j
=]
52 13 2015
58
] X
=
14

1.2

14

( B =
17 B
=|
T
iz
10
A
AFE B
&
7K 55
7K
53
=
3 (3 )
4 14
14 i
63
4

56

)
B =

55

Rt 6.6

2 04 4,9 @

I\
201%

115
(29

2048

15

30




6 15 E -2
B
52
6 15 1,127 94
H e B& 2015
104 1,1 2% & 172
10 2
70 19 X 7
6 15 100 827 1
v Z 827
E 23] X = 156
6 1
1.34 10
6 16 4 11
15 4 1 10
42
A =
== 23]
6 17 )=|
16
) P &= J&,
548 P Bt 1 %%
7 % B 7 0%
5 0v6 O
6 17 =51
+ 16
bzl A ==
6 21
20 D
6 21 15
2048
14 b 6.1 -5 3,562 0.9
H~16 3
6 21
20 (ASEAN)
6 22 10 85 35
== A
10 2.2
B

ke

94 5,400

Tl

1®

I

HE 25

ot

12
3.02F
te

6,2 B

il

72 15

208

31




6 24 4 44 7,8
ES 53 1
tt 4
& )\
=k
6 24 4 2 1,0 0
23 4 1 1,0 3 A 71
2 1,0 ®
F A =} Elva =}
6 24 B &
78 noo 2
X 5
E
6 25 B EU =]
EU T 8
10y iva
O )\
6 25 g4 7
gog
24 74
(26 ) (7 ) () (5 ) (3 ) ()
T 0o A F B2 ES 7 7
A =
(PB)
A A
2 A 7R &
199 i
T &
20Q bl PB 2 =
B
15 166 3 2
E 20 6.5 15 B E (2.2
3 2

32




6 B A ( ) 28
BSI 210 E
X B NN B
X 3 B I\
X I\ B =]
BSI ( )
o
28 3 28 6 28 9 28 12
g 8
21.3 210( 11.9) 17.4( 1 10) 17.1
16.1 11.8¢ 9.7) 13.2¢( 9.7) 13.2
25.7 23.7( 114) 17.1¢( 8.6) 14.5
21.4 23.5( 12.8) 19.3( 1 23) 19.9
10.1 17.3¢( 2.5) 13.6¢( 1.7) 13.6
28.0 23.0( 175) 19.5( 1 65) 19.0
(28 1
35
E ~
17 8 6 30
( )

Emai | a2130@pre fsaitama.lg.jp

33



mailto:a2130@pref.saitama.lg.jp

